=> C(F);

F[1] =
|F[2] =
> C(J);
J[0][0]

J[O][1]
J[0][2]
J[1][0]
JI1][1]
J[1][2]
J[2][0]
J[2][1]
| J[2][2]

eqns .= [x§+xfx2—xlx3+6,e1+e2—x3, —2x1x3+x§—4

F:=

;> restart;
> eqns:=[x[1]*3+x[1]"2*x[2]-x[1]*x[3]+6,
exp(x[1])+exp(x[2])-x[3],
X[2]"2-2*x[1]*x[3]-4];

[> with(linalg):
> F:=evalf(vector(eqns));

> X:=[seq(x[i].i=1..3)]:

E J:=jacobian(F,X);

[ > with(CodeGeneration);
[ C, CSharp, Fortran, IntermediateCode, Java, LanguageDefinition, Matlab,

Names, Perl, Python, Save, Translate, VisualBasic]

X

X

X

X

X:= [xl, Xy, x3]

"
e

_2.X3

o, ) :
3X+2x % —1.x Xx -lLx

%
e - 1.

2x, -2.%

exp(x[0]) + exp(x[1]) - 0.1el * x[2];

-0.2e1 * x[0] * x[2] + pow(x[1l], 0.2el1) - 0.4e1;

0.3el * pow(x[0], 0.2e1) + 0.2el1 * x[0] * x[1] -
0.1el * x[2];

pow(x[0], 0.2e1l);

-0.1el1 * x[O0];
exp(x[0]);
exp(x[1]);
-0.1e1;
-0.2el * x[2];
0.2el * x[1];
-0.2el1 * x[0];

|

x§+x%x2—1.x1x3+6. el—i—ez—l.x3 —2.xlx3—|—x§—4.

|

F[O] = pow(x[0], 0.3el) + pow(x[0], 0.2e1) * x[1] - 0.1el * x
[0] * x[2] + 0.6e1;
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